

Calculus Chapter 4 Review Day 2

Page 186 #35 - 42, 45 - 50

35)

$$x \frac{dy}{dx} + 1y + 2 + 3 \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = \frac{-y-2}{x+3}$$

36)

$$4x^{-1/5} + 12y^{1/5} \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = \frac{-4x^{-1/5}}{12y^{1/5}}$$

37)

$$\frac{1}{2}(xy)^{-1/2} \left( 1y + x \frac{dy}{dx} \right) = 0$$

$$\frac{dy}{dx} = \frac{-y}{x}$$

38)

$$2y \frac{dy}{dx} = \frac{(x+1)(1) - x(1)}{(x+1)^2}$$

$$\frac{dy}{dx} = \frac{1}{2y(x+1)^2}$$

39)

$$3x^2 + 3y^2 \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = \frac{-3x^2}{3y^2} = \frac{-x^2}{y^2}$$

$$\frac{d^2y}{dx^2} = \frac{(y^2)(-2x) - (-x^2) \left( 2y \frac{dy}{dx} \right)}{(y^2)^2}$$

$$\frac{d^2y}{dx^2} = \frac{(y^2)(-2x) - (-x^2) \left( 2y \left( \frac{-x^2}{y^2} \right) \right)}{y^4}$$

40)

$$2y \frac{dy}{dx} = \frac{2}{x^2}$$

$$\frac{dy}{dx} = \frac{1}{x^2 y} = x^{-2} y^{-1}$$

$$\frac{d^2y}{dx^2} = x^{-2} (-y^{-2}) \frac{dy}{dx} + (-2x^{-3}) y^{-1}$$

$$\frac{d^2y}{dx^2} = x^{-2} (-y^{-2}) (x^{-2} y^{-1}) + (-2x^{-3}) y^{-1}$$

41)

$$3y^2 \frac{dy}{dx} + \frac{dy}{dx} = -2 \sin x$$

$$\frac{dy}{dx} = \frac{-2 \sin x}{3y^2 + 1}$$

$$\frac{d^2y}{dx^2} = \frac{(3y^2 + 1)(-2 \cos x) - (-2 \sin x) \left( 6y \frac{dy}{dx} \right)}{(3y^2 + 1)^2}$$

$$\frac{d^2y}{dx^2} = \frac{(3y^2 + 1)(-2 \cos x) - (-2 \sin x) \left( 6y \left( \frac{-2 \sin x}{3y^2 + 1} \right) \right)}{(3y^2 + 1)^2}$$

42)

$$\frac{1}{3} x^{-2/3} + \frac{1}{3} y^{-2/3} \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = \frac{-y^{2/3}}{x^{2/3}}$$

$$\frac{d^2y}{dx^2} = \frac{x^{2/3} \left( -\frac{2}{3} y^{-1/3} \frac{dy}{dx} \right) - (-y^{2/3}) \left( \frac{2}{3} x^{-1/3} \right)}{x^{4/3}}$$

$$\frac{d^2y}{dx^2} = \frac{x^{2/3} \left( -\frac{2}{3} y^{-1/3} \left( \frac{-y^{2/3}}{x^{2/3}} \right) \right) - (-y^{2/3}) \left( \frac{2}{3} x^{-1/3} \right)}{x^{4/3}}$$